¢ _ %
dP(r) Q) = ey ;\ ",

1 Q2
\1= T +rd — ad v wsg

oY 1
G, = ¥ =93 + Qdv cns §

Vst r\a the c‘_cmﬁ S\'Q»q < Cﬁ'\.& (\0&3 S‘QS Jc"l’»‘ﬂ\

as  dmowan  olowe owd Yo  exbrassion _fon

e potedlled  give  olowe WA down
Plx, 3,7
Coluldas  the dachrue piedd by Tokuy

grodieds & e pole wWaed

E‘('K_,Jj-‘l-) = V‘{D




©)

*

T Ye Q’L?MSS'\CN\ o e th.’tm}_ il d <o\~
o obfav Mo  docknue $aeld o)

=0

C’A\\\Q
bowk on ey o, Show  Malk

Ne sawme Held (g ha %3 \:me)

couvdd Le Rouvd veﬁsA&a (\_uQ Coudomb's
Lonw .

Us{vnb Ao @-‘LE’MSS\‘W\ Sen. e Q‘QL\‘T\.‘}L

Lid ol wlold e sunRace dow S.uba“
0:2. UW:\!-L(SL:! Q,\r\czﬁ\i Q j) on  Yhe r).__-d
Plowne .

] Find The ‘otal wduaed Q,\I\OJ\_ac

A L0
Q,‘m :g g G’(T“j) d Aq

b&, c\d\mk Mo olsowve ‘w\'e-‘a"k&&»
Vs C\th&\&q Rwew YThwe resull dGd

Yo u not 7




